costified copy



Rural Works Department Govt of Bihar

SUPPLYMENTRY AGREEN

A MANTRY GRAM SAMPARK YO



UNDER RWD WORKS DIVISION BIHARSHARIF

C/S Approved By S.E. RWD Work Circle Nalanda Vide Letter 927(we) Dated 28.05.18 PROJECT NAME: - CONSTRUCTION OF ROAD FROM BARHIYA KHOJKIPUR ROAD TO KABIRCHAK INCL. FIVE YEAR MAINTENANCE.

REG. NO.-....

PAN NO-....

TENDER ID-61553

BID ID-274926

NAME OF CONRACTOR :- DESH DEEPAK

CONTRACTOR ADD.

:- NARAI, EKANGARSARAI, NALANDA

Rate for Supplementary Agreement Approved Vide S.E. RWD Work Circle

Nalanda Letter No.- 478 (अनु०) Dated 25.06.2021

SUPPLEMENTARY AGREEMENT NO.-

SBD-07(S)/2018-19

IN CONTIUATION TO AGREEMENT NO.-

SBD-07/2018-19

REVISED ESTIMATED COST:-

Rs. 48,59,328.00

ORIGINAL ESTIMATED COST:-

Rs. 45,28,422.00

ACCEPTED RATE:-

0.00% Below of BOQ Rate

ORIGINAL AGREEMENT VALUE:-

Rs. 45,28,422.00

TOTAL AGREEMENT VALUE:-

Rs. 48,59,328.00

SUPPLEMENTARY AGREEMENT VALUE:- Rs. 3,30,906.00

LOL	-575-	as (1)
भारतीय गैर न्यायिक।।	NDIA NON JUDICIAL	
	TRACE CENT	G G
एक हजार रुपये 🧞	ONE THOUSAN	D RUPEES ()
₹.1000	Rs.100	JU
	Carlo (art)	
		٦.
282-11/199 (do o 2000) 20	1 Club clas Chan Brong	Charles Lilam
ELL BIHAR A DON SON SON SON	en a de al mort conti	AH 591188
8	बुन्द्राक विकटः री ने 4/84	
. 8	विहास वरीक (वा <i>काम्</i> सा)	h / ==
Agreement		IV (n
This agreement made the	day of	
Between Executive En	gineer, Rural Works Departmen	t, Works Division,
Biharsharif under Plan Head M	MGSY for BRRDA 5th Floor Vishwe	eshwaraiya Bhawan,
jawanariai Nenru Marg, Patna.	15 (Name and address of Emp	oloyer) (hereinafter
called" the Employer") of part, an DESH DEEPAK,	πα	
AŢ-NARAI, EKANGARSARAI		
NALANDA.		
Whereas the Employer is des	irous that the Contractor execute o	of the Constant
of Road from Barhiya Khoj	kipur Road to Kabirchak ind	Sluding five year
maintenance under Head MM	GSY. [Name and identification nu	Imber of Contractl
(here in after called" the works	s") and the Employer has accept	ed the Bid by the
Contractor for the execution and	completion of such Works and the	e remedying of any
defects there in at a cost of Rupe	es 3,30,906.00 (Three Lakh Thir	ty Thousand Nine
Hundred & Six) only i.e on 0.000	½ (Zero Point Zero, Zero Percent)	below of Estimated
Ra l le.		,
Desh Deelak		<i>510</i> र्वपालक अभियन्ता
Push Delice		वपालक जानवन्ता। कार्व विभय, कार्य प्रमंडल

NOW THIS AGREEMENT WITNESSETH as follows:

- In this Agreement, words and expressions shall have the same meaning as are respectively assigned to them in conditions of contract hereinafter referred to, and they shall be deemed to form and read and construed as part of this Agreement.
- 2. In consideration of the payments to be made by the employer to the contractor as hereinafter mentioned, the contractor hereby covenants with the employer to execute and complete the works and remedy any defects therein in conform in all aspects with the provisions of the contract.
- 3. The employer hereby covenants to pay the contractor in consideration of the execution and completion of the works and the remedying the defects wherein the contract price or such other sum as may become payable under the provisions of the contract at the times and in the manner prescribed by the contract.
- 4. The following documents shall be deemed to form and read and construed as part of this Agreement, Viz:
 - (i) Letter of Acceptance:
 - (ii) Notice to proceed with the works:
 - (iii) Contractor's Bid:
 - (iv) Contract Data:
 - (v) Special Conditions of contract and general conditions of contract:
 - (vi) Specifications:
 - (vii) Drawings:
 - (viii) Bill of Quantities and
 - (ix) Any other document listed in the contract data as forming part of the contract.

 All others clause of contract and terms and condition stipulated in original agreement no SBD-07/2018-19 will be admissible and applicable in this agreement.

The Common Seal of
Was here un to affixed in the presence of:
Signed, Sealed and Delivered by the said
In the presence of :
Binding Signature of Employee
Binding Signature of Contractor Desh Deelax

Jush Deelar

5/9 कार्यपालक अभियन्ता ग्रामीण कार्य निधान, कार्य प्रमंडल बिहार शरीफ (नालन्य)

अधीक्षण अभियंता का कार्यालय ग्रामीण कार्य विभाग, कार्य अंचल, नालन्दा

पत्रांक....478.31गुरु

नालन्दा/दिनांक25/६/२/.....

प्रेषक,

अधीक्षण अभियंता, ग्रामीण कार्य विभाग, कार्य अचंल, नालन्दा

सेवा में,

कार्यपालक अभियंता, ग्रामीण कार्य विभाग,

कार्य प्रमंडल, बिहारशरीफ। १५५५-५६६०२ भी ७२१२००२ पुनरीक्षित परिमाण विपत्र अनुमोदन करने के संबंध में।

प्रसंग :-

आपका पत्रांक-824,825 (अनु०) दिनांक:-18.06.2021

महाशय;

उपर्युक्त विषयक प्रासंगिक पत्र से प्राप्त विषयांकित योजनान्तर्गत 4(चार) पर्थो का पुनरीक्षित परिमाण विपत्र अनुमोदनोपरांत वापस की जाती है। सभी पृष्ठ अनुमोदित है।

	क	शीर्ष का	योजना का नाम	पुनरीक्षित परिमाण	प्रशासनिक	पुनरीक्षित
	1.	नाम		विपत्र की राशि	स्वीकृति की	तकनीकी
				(रूपये में)	राशि (लाख में)	स्वीकृति की
						राशि (लाख में)
	1	PMGSY	टी01 (NH-82) से	24992343.00	228.590	249.92
			डेदघरा तक।			
1	2		बढ़िया खोजपुर से	4859328.00	46.177 .	48.60
-			कबीर चक।			•
	3	MMGSY	बेनार सकसोहरा रोड	4649763.00	47.387	46.493
			से पिताम्बर बिगहा		- X	
	4		सोईबा अलीपुर रोड	4525446.00	44.078	45.89
!		· · · · · · · · · · · · · · · · · · ·	से विस्तीपुर गाँव।	1. 1		

अनु 0: -यथोक्त् (एक प्रति मूल में)।

Desh Deelak

विश्वासभाजन

अधीक्षण अभियंता, ग्रामीण कार्य विभाग, कार्य अंचल, नालन्दा।

ग्रामीण कार्य विभाग, कार्य प्रमंडल

बिहार शरीफ (नालन्दा)

1

(Ministry of Rural Work Department, Govt. of Bihar) MMGSY

Revised Bill of Quantities Including Restoration Work

ength	7101	1	4-			\dashv
f Road	710M	BLOCK :-	Sarme	era .		
		DISTRICT :-	Nalan	da		
S.No.	DESCRIPTION OF ITEMS	QUANTITY	רואט	RATE (Rs.)	AMOUNT (Rs.	,
1	Setting Out Pillar-Providing & Fixing of Working		1			7
	benchmark Pillars Inos. per km & 4 Nos. of reference pillars required for 1 Km. as per drawings given and direction of E/I					
2	Clearing and Grubbing Road Land (By manual means)	0.71	KM	13007.44	9235.28	4
	including uprooting wild vegetation, grass, bushes, shrubs, saplings and trees of girth upto 300mm, removals of stumps of such trees cut earlier & disposal of unserviceable materials & stacking of serviceable materials to be used or auctioned upto a lead of 1000 m including removal and	0.50				
3	Box CuttingExcavation for roadway in soil using manual	0.50	Ht	48744.04	24372.02	
	means for carrying of cut earth to embankment site with a lift upto 1.5 m and lead upto 50 m as per Technical Specification Clause 302.3					
4	Construction of embankment with approved material	12.75	cum	72.56	925.14	1_
a r	deposited from road way cutting and excavation from drain and foundation of other structures and excavated with an average lead of 50 m graded and compacted to meet equirement of tables 300.1 and 300.2 as per technical pecification clause 301.5 (Including Royality & Labour					
5 0	Construction of Embankment with material obtained from	7.65	cum	26.10	199.67	-
s n u	preading, grading to required slope and compacting to neet requirement of Tables 300.1 and 300.2 with a lead pto 1000 m & 100 m as per Technical Specification Clause				d as Corr	
3	01.5. (Including Royality & Labour Cess).			SE, RV	1D (W) C	rç
5 F	or 100 m lead				Valanda	(M)
Fe	or 1000 m lead	1070.35	cum	106.37	_113853.13	U
	onstruction of subgrade and earthen shoulders with	370.96	.cum	146.35	54290.00	_
ar ar slo wi Sr	operaterial obtained from borrow pits with all lifts and leads, transporting to site, spreading, grading to required operand compacted to meet requirement of Table 300.2 ith lead upto 1000 m & 100 m as per Technical pecification Clause 303.1. (Including Royality & Labour					
Gi of sp ari me	ranular Sub-base with Well Graded Material-Construction granular sub-base by providing well graded material, reading in uniform layers with tractor mounted grader rangement on prepared surface, mixing by mix in place ethod with rotavator at OMC, and compacting with mooth wheel roller to achieve the desired density,	1616.93	cum	148.45	240033.26	•
	desired density,	556.60	cum	1569.19	873411,15	

Desh Deelask



	WBM Grading 3 :- Providing, laying, spreading and compacting stone aggregates of specific sizes to water		_		
1.	bound macadam specification including spreading in uniform thickness, hand packing, rolling with smooth wheel roller 80-100 kN in stages to proper grade and camber,				
	applying and brooming, stone screening to fill-up the	203.68	cum	1758.07	358083.70
	Prime Coat Providing and applying primer coat with bitumen emulsion (SS-1) on prepared surface of granular base including cleaning of road surface and spraying primer at the rate of 0.70-1.0 kg/sqm using mechanical means as per Technical Specification Clause 502		Sqm	50.50	104307.75
(Tack Coat-Providing and applying tack coat with Bitumen emulsion (RS-1) using emulsion distributor at the rate of 0.25 to 0.3 kg per sqm on the prepared bituminous surface cleaned with Hydraulic broom as per Technical Specification Clause 503.				25072 10
13	Min Goal Surface Presiding Lain 1997 CO	2065.50	Sqm	16.98	35072,19
1 t s	Mix Seal Surface -Providing, laying and rolling of Close- graded premix carpet of 20 mm thickness composed of 13.2 mm to 5.6 mm aggregates either using penetration grade bitumen or emulsion to required line, grade and level to serve as wearing course on a previously prepared base, including mixing in a suitable plant, laying and rolling with	2065.50	Sqm	209.59	432908.15
p o ty a	Cement Concrete Pavement -Construction of un-reinforced, plain cement concrete pavement, thickness as per design, over a prepared sub base, with 43 grade cement or any other type as per Clause 1501.2.2 M30 (Grade), coarse and fine aggregates conforming to IS:383, maximum size of coarse aggregate not exceeding 25 mm, mixed in a concrete mixer	128.04	cum	7218.43	924247.78
g a s: b	Hard Soldering-Laying brick soling layer on prepared sub- grade with brick on end edging according to lines, graded and cross-section shown on the drawing filling joints with sand and earth, spreading 25 mm thick layer of earth over brick soling, watering and rolling the same with three wheel road roller 80-100 kN as per Technical Specification	170.00	- cum	557.66	94802,20
fo co	Cabale Duct-Providing and laying of reinforced cement concrete pipe duct, 300mm dia acroos the road extending form drain in cuts and toe of slope ot toe of slope in fills constructing head walls at both ends providing minimum fill of fgranular material over top and sides of RCC pipe as per RC 981997 bedded on a 0.3mm thick layer of granular				
17 K	Kilometre stone Reinforced cement concrete M15 grade cilometre local stone of standard design asper IRC:8 fixing n position including painting and printing, etc as per lrawing and technical specification clause 1703.	3.00	Nos	8958.00	26874.00
	i) Km stone	1.00	Nos	2096.53	2096.53
19 iii	ii) 200 m stone	3.00	Nos Nos	610.06	1830.18 e

Fish Quelax

Approved as Corfected

Approved as Corfected

SE, RWD (W) Circle

Nalanda

(2)

21	Traffic sign A. Retro Reflectorised Traffic signs Providing and fixing of retro-reflectorised cautionary mandatory and informatory sign as per IRC:67 made of	i-l			
21	1701.2.3 fixed over aluminium sheeting vide Claus supported on a mild steel angle iron post 75 mm x 75 mm;	f e			
22	600 mm equilateral & triangle,	2.00	No	1532.37	3064.74
	800 mm x 600 mm rectangular,	2.00	Nos		3319.94
	600 mm x 450 mm rectangular,	2.00	Nos		3154.52
	Road Marking with Hot Applied Thermoplastic Compound with Reflectorising Glass Beads on Bituminous Surface- Providing and laying of hot applied thermoplastic compound 2.5 mm thick including reflectorising glass beads @ 250 gms per sqm area, thickness of 2.5 mm is exclusive of surface applied glass beads as per IRC:35. The finished		Sqm	626.02	67610.16
25 I	Providing and Fixing 'Logo' of MMGS Project - Providing and fixing of typical MMGSY informatory sign board with Logo as per MORD specifications and drawing. Three MS Plates of 1.6 mm thick, top and middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The	108.00	Squi	02332	
	ower plate will be welded with MS angle iron frame of	3.00	Nos	7788.55	23365.65
b	Printing New Letters and Figures of any Shade-Printing new etter and figures of any shade with synthetic enamel paint plack or any other approved colour to give an even shade as per drawings and Technical Specification Clause 1701	132.00	Ht	0.49	64.68
te cc ot dr	Carthwork in excavation for structures as per drawing and echnical specifications Clause 305.1 including setting out, onstruction of shoring and bracing, removal of stumps and ther deleterious material and disposal upto a lead of 50 m, ressing of sides and bottom and backfilling in trenches with accavated suitable material.	150.95	cum	280.02	42269.02
	and filling in foundation Trenches as per drawing and chnical specification clause 1108.	2.02	cum	484.73	979.15
op sp	roviding PCC M 15 (1:2.5:5) concrete for plain concrete in pen foundations complete as per drawings and technical ecifications Clause 802, 803, 1202 & 1203	82.71	cum	4806.25	397524.94
co	ain/Reinforced cement concrete(M-15) in substructure implete as per drawings and technical specification lauses 802, 804, 805, 806, 807, 1202 and 1204	106.00			
I Pla	ain/Reinforced cement concrete(M-20) in substructure mplete as per drawings and technical specification auses 802, 804, 805, 806, 807, 1202 ans 1204	8.75	cum	5151.34	550575,22-
cer dra	CC M25 in Deck Slab: Providing and laying reinforced ment concrete in superstructure (Deck slab M25) as per awing and technical specifications Clauses 800, 1205.4, 05.5	8.01	cum	6914.81	55387.63
sup	pplying, fitting and placing HYSD bar reinforcement in per-structure complete as per drawing and technical cifications	0.91	MT	71975.00	65497,25

Drily Sufter

VSE, RWD (W) Circle Nalanda

		· · · · · · · · · · · · · · · · · · ·				
s	.No.	DESCRIPTION OF ITEMS	QUANT	ITY U	NIT RATE (Rs.) AMOUNT (Rs.
	34	Providing and filling joint sealing compound as drawings and technical specifications with coarse sand an per cent bitumen by weight	per nd 6		m 38.73	580.05
	35	Providing Weepholes in brick masonary, Plain / Reinforconcrete abutement, wing wall, return wall with 100 r dia AC pipe extending through the full width of the struct with slope of IV: 20H towards drawing	nm ure	71		
-	36	Drainage spouts complete as per drawing and technic specification clause 1209	* *			
	37	Providing and laying RCC pipe NP-3 for culverts on ficlass bedding of PCC M10 material in single row includifixing collar with cement mortar 1:2 but excludifixing concrete as masonary works in head walls and parapets as per claus 1106.1000mm dia	ng ng nd se	No		1099.12
3	_		15.00	/ Nos	3767.54	56513.10
	5	Dismantling of existing structures like culverts, bridge retaining walls and other structure comprising of masonry cement concrete, wood work, steel work, including T&P an scaffolding wherever necessary, sorting the dismantle material, disposal of unserviceable material and stacking the terviceable material with all lifts and lead of 1000 m as pe	y, d d			
39		Cement Concrete		-		
40	R	einforced Cement Concrete	2.25	cum	464.33	1044.74
41	_		5.04	cum	1044.46	5264.08
41	re ce sc m:	dismantling of existing structures like culverts, bridges, staining walls and other structure comprising of masonry, ement concrete, wood work, steel work, including T&P and affolding wherever necessary, sorting the dismantled atterial, disposal of unserviceable material and stacking the reviceable material with all lifts and lead of 1000 m as per				3201.30
42	Ce	ement Mortar		-		
. 43	\top	Tables	24.75	cum	223.09	5521.48
44	M:	Total (A)		-		4634158.89
45		r 1st Year.	1.000	KM	27,127.00	27127.00
46	+	3rd Year	1.000	KM	33,711.00	33711.00
47	For	4th Year	1.000	KM	46,079.00	46079.00
48	For	5th Year	1.000	KM	54,767.00	54767.00
49			1.000	KM	63,485.00	63485.00
50		Total (B) Grand Total (A+B)				225169.00
						4859327.89

Desh Deeler

Say Rs (in Lakh) 4859328 00 rrects:
Approved as Corrects:

SE, RWD (W) Circle
Nalanda

18/6/21

. 4.

· Ju sight	lakh
8.0.Q.Approved for Rs. 48,59,328.00 (Rupeca Londy eight with mine thousand three humanages with the lost and Rs. (Rs	a inht
a served for Rs. To 33 3 20 10 10 10 10 10 10 10 10 10 10 10 10 10	exgre
B.O.Q. Approved thousand three three	only.
Bishary (Ro	0
(Rs	
RS(RS	
Rs	***
\$2-6-2.	
A.E. Circle Malanda	
DWD	
Circle Naturada	
- in pactare.	

Scanned with CamScanner



ग्रामीण कार्य विभाग

Rural Works Department, Govt of Bihar

570

SBD AGREEMENT NIKHYA MANTRY GRAMYA SAMPARK YOJAN



Main Maski- 13,03,253=~

UNDER

Total Rs: -45,28,422=0

RWD WORKS DIVISION BIHARSHARIF

C/S Approved By S.E. RWD Work Circle Nalanda Vide Letter 927(we) Dated 28.05.18

PROJECT NAME :- CONSTRUCTION OF ROAD FROM BARHIYA

KHOJKIPUR ROAD TO KABIRCHAK Inc. 5yrs.

MAINTANANCE. MMUTSY (SC)

REGISTRATION NO.-, PAN NO-

NAME OF CONRACTOR :- DESH DEEPAK

CONTRACTOR ADD. :- NARAI, EKANGARSARAI, NALANDA

BLOCK :- SARMERA

AGREEMENT No. :- SBD-..0.7..../2018-19

ACCEPTED RATE :- 0.00% Below of BOQ Rate.

AGREEMENT Value :- Rs. 45,28,422.00

WORK STARTED DATE :- 06.6.18

INTENDED DATE OF COMPLETION:- 65.319

Jush Deelax

Executive Engineer
RWD (W)
Division Biterishani (Netanda)

Certified Copy

HELL TO THE TOTAL TOTAL

बिहार सरकार ग्रामीण कार्य विभाग

पत्रांक- BRRDA(HQ)-MMGSY-608/2017 /53

/पटना, दिनांक-6.2.18

प्रेषक.

संजय कुमार, भा०क्रके अपर सचिव, ग्रामीण कार्य विभाग।

सेवा में.

महालेखाकार, बिहार वीरचन्द पटेल पथ, पटना।

विषय : मुख्यमंत्री ग्राम सम्पर्क योजनान्तर्गत वित्तीय वर्ष 2017—18 के लिए योजना शीर्ष 4515—अन्य ग्राम विकास कार्यक्रमों पर पूंजीगत परिव्यय उप मुख्य शीर्ष—00—लघु शीर्ष—103—ग्राम विकास—उप शीर्ष—0113 (सामान्य), अनुसूचित जातियों के लिए विशेष घटक योजना—लघुशीर्ष—789—उप शीर्ष—0104 एवं जनजातीय क्षेत्र उप योजना—लघुशीर्ष—796—उप शीर्ष—0109 के अन्तर्गत प्रत्येक योजना के निर्माण कार्य हेतु सूची के स्तम्म—9 में अंकित राशि का प्रशासनिक अनुमोदन प्रदान किये जाने के संबंध में।

महाशय.

मुख्यमंत्री ग्राम सम्पर्क योजना के अन्तर्गत वित्तीय वर्ष 2017—18 (अनुसूचित जाति) के लिए कार्य प्रमंडल, बिहारशरीफके अधीन इक्कीस (21) योजना के निर्माण एवं पंचवर्षीय अनुस्क्षण कार्य सहित निम्न तालिका के स्तम्भ–9 में अंकित राशि का प्रशासनिक अनुमोदन प्रदान किया जाता है।

	Division	Block	Category	Name of Road	Priority no of core network	Length (In km)	Total Population Served	Administrative -Approval -Amount (In Lakhs)
1	2	3	4	5	6	7	8	9
1	Biharsharif	Asthawan	SC	Benar Mahamdabad Path to Jakhaur Hote Via Sadarpur SE Gobindpur	17	0.683	2667	40.649
2	Biharsharif	Asthawan	SC	Sare Noawan Path Ke Chakdin More to Jethiyar	19	0.946	2487	52.677
3	Biharsharif	Asthawan	SC	Damchak-Dumrawan Road to Tetua Bigha	30	0.500	1644	22.998
			Total			2.129	6798	116.324
4	Biharsharif	Sarmera	SC	Chhoti Malawan To Chhoti Ghariyari	15	2.760	487	130.860
5	Biharsharif	Sarmera	SC	Barhiya-Khojkipur Road T0 Kabirchak	17	0.710	413	46.177
6	Biharsharif	Sarmera	SC	Aruapar More (Nayagarh More) To Aruapar	6	1.460	1198	94.890
7	Biharsharif	Sarmera	SC	Middle School Isua in North Side T0 Samudayik Bhawan Yadav Tola Isua	23	0.740	263	49.675
			Total		19	5.670	2361	321.602
8	Biharsharif	Bind	SC	Saiyadpur Rajopur Bigh (L062) To Kalyan Bigha	23	1.280	293	77.930
9	Biharsharif	Bind	N .	Dulhanpur To Makanpur Via Bakra	8	2.500	1010	135.120
10	Biharsharif	Bind		Soyba-Alipur Road ke Utarthu Ahiyachak Road To Narayanpu	19	0.750	421	37.382
			Total			4.530	1724	250.432



Executive Engineer

R.W.D. (W)

Division Biharshant (Malanda)

SI No.	Division	Block	Category	Name of Road	Priority no of core network	Length (In km)	Total Population Served	Administrative Approva! Amount (In Lakhs)
 	2	3	4	5	6	7	8	9
1	Biharsharif	Biharsharif	SC	Mahalpar Tetrawn Dariyapur Path To Hargawan Manji Tola	47	0.697	300	38.944
12	Biharsharif	Biharsharif	SC	Mahalpar TetrawnChatto Path To Amdaha Mushari	13	1.199	735	76.630
13	Biharsharif	Biharsharif	SC	NH-31 Tungi Path SE to Paharpura Mahadalit Tola	35	0.500	377	35.438
14	Biharsharif	Biharsharif	SC	NH-31 Tungi Path To Tungi Mushari Pindpar	26	1.500	450	99.400
-			Total			3.896	1862	250.412
15	Biharsharif	Rahui	SC	Amarpur-Salempur Road T0 Kadi Bigha	4	0.300	1376	18.929
16	Biharsharif	Rahui	SC	Utternawan Pessour Road T0 Gaibi Tak	10	0.350	985	23.382
17	Biharsharif	Rahui	SC	NH-31 T0 Raghopur	34	1.224	274	60.281
18	Biharsharif	Rahui	SC	Bihar-Nijay Road T0 Mirjapur	11	0.950	918	53.147
19	Biharsharif	Rahui	SC	Amarpur-Salempur Road T0 Dhamasang	21	0.780	642	37.786
20	Biharsharif	Rahui	SC	NH-31 Pokharpur T0 Dhamaulidih	6	0.600	1218	31.406
21	Biharsharif	Rahui	SC	Mathurapur Yatri Shed Near T0 Kathauli	3	1.050	713	54.598
			Total			5.254	6126	279.529

- 2. विभागीय सचिव द्वारा दिनांक 31.12.2017 को निम्न शर्तों के साथ इस योजना की स्वीकृति प्रदान की गई है:--
 - (क) **इन** योजना को दो वित्तीय वर्ष, अर्थात वर्ष 2017—18 एवं वर्ष 2018—19 में पूरा किये जाने का लक्ष्य है।
 - (ख) कार्यपालक अभियंता, कार्य प्रमंडल, बिहारशरीफ योजना के विस्तृत कार्य योजना तैयार करेंगे तथा उसके अनुरूप कार्यों को समयबद्ध ढंग से पूर्ण कराना सुनिश्चित करेंगे।
 - (गं) स्वीकृत योजना की प्रविष्टि State Core Network के मानचित्र पर भी कर लिया जायेगा।
 - (घ) कार्यपालक अभियंता, कार्य प्रमंडल, विहारशरीफ सुनिश्चित करेंगे कि स्वीकृत पथ किसी अन्य योजना के अन्तर्गत सम्मिलित नहीं है।
- 3. कार्यपालक अभियंता, कार्य प्रमंडल, बिहारशरीफ योजना के कार्य सम्पादन हेतु निकासी एवं व्ययन पदाधिकारी होंगे।
- 4. कार्य ई-निविदा के माध्यम से Standard Bidding Document के आधार पर कराया जायेगा।
- 5. कार्यों की गुणवत्ता सुनिश्चित करने की जिम्मेवारी संबंधित कार्यपालक अभियंता की होगी। किये गये कार्यों का भुगतान गुणवत्ता के जाँच फल के गुण—दोष के आधार पर किया जायेगा।
- 6. कार्यों का क्रियान्वयन मुख्यमंत्री ग्राम सम्पर्क योजना की मार्गदर्शिका के आलोक में किया जायेगा।
- 7. योजनाओं के कार्यान्वयन के पूर्व डी०पी०आर० पर सक्षम पदाधिकारी से प्रावैधिक स्वीकृति प्राप्त कर ली जायेगी।



Executive Engineer

 योजनाओं की तकनीकी स्वीकृति प्रदान किये जाने के क्रम में प्रावधानित प्रत्येक मद् की संभाव्ययता की जाँच सक्षम प्राधिकार द्वारा सुनिश्चित किया जायेगा।

9. योजना शीर्ष 4515—अन्य ग्राम विकास कार्यक्रमों पर पूंजीगत परिव्यय उप मुख्य शीर्ष–00–लघु शीर्ष–103–ग्राम विकास–उप शीर्ष–0113 (सामान्य), अनुसूचित जातियों के लिए विशेष घटक योजना—लघुशीर्प–789—उप शीर्ष–0104 एवं जनजातीय क्षेत्र उप योजना—लघुशीर्ष–796—उप शीर्ष–0109 के अन्तर्गत वितीय वर्ष 2017–18 के लिए उपविधत राशि से विकलनीय होगा।

राष=0109 क अन्यनिव विधाय पर 2017—18 वर रिष्ठ उपवासी 10. कार्यपालक अभियंता, ग्रामीण कार्य विभाग, कार्य प्रमंडल, बिहारशरीफ द्वारा योजना का वित्तीय एवं भौतिक प्रतिवेदन प्रत्येक माह की पाँच तां0 तक ऑनलाईन प्रविष्टि कराते हुए अधीक्षण अभियंता एवं मुख्य अभियंता के माध्यम से विभाग को निश्चित रूप से उपलब्ध करायेंगे।

एव गुख्य आनयता क गांच्या राजपान का गांच्या उत्तर का कार्य विभाग द्वारा दिनांक— 11. इस योजना की रवीकृति सक्षम प्राधिकार विभागीय सचिव, ग्रामीण कार्य विभाग द्वारा दिनांक— 31.12.2017 को संचिका संख्या BRRDA(HQ)-MMGSY-608/2017 के पृष्ठ—18/टि० पर प्राप्त

12. इस योजना मद् में व्यय 2017–18 में बजटीय उपबंध से किया जायेगा, जिसकी निकासी कर PL

खाता में रखा जा चुका है। इसी राशि से इन योजनाओं का कार्यान्वयन कराया जायेगा।

13. बिहार कोषागार संहिता में निहित प्रावधानों के आलोक में बजट प्रावधान के अन्तर्गत ही राशि की निकासी की जाय।

14. यह राशि उसी मद से खर्च की जायेगी, जिसके लिए पुर्नविनियोजित की गयी है, अन्य मद से नहीं।

15. प्राक्कलन कि विशिष्टताओं के अनुसार निर्धारित समयावधि के अन्दर कार्य पूर्ण कराना सुनिश्चित

किया जाय।

16. योजना के कार्यान्वयन के क्रम में इनका निर्धारित निरीक्षण (नियमित अन्तराल पर) अनिवार्य रूप से किया जाय तथा प्रतिवेदन अभिलेखबद्ध किया जाय।

17. वित्त विभाग की संकल्प संख्या एम–4–53/2007–3758 वि०, दिनांक–31.05.2017 में निहित निदेशों का अक्षरशः पालन किया जाय तथा बिहार वित्त नियमावली के सुसंगत प्रावधानों के आलोक में योजना में उपबंधित राशि की उपलब्धता के आधार पर व्यय की जाय।

18. यह आदेश वित्त विभाग की संकल्प संख्या एम–4–53/2007–3758 वि0, दिनांक 31.05.2017 की विह्नांच अविश्वान के आलोक में एवं संचिका संख्या BRRDA(HQ)-MMGSY-608/2017 के पृष्ट-18/टि० पर दिनांक-31.12.2017 को विभागीय सचिव के आदेशानुसार प्रदत्त प्रशासनिक रवीकृति तथा आंतरिक वित्तीय सलाहकार की सहमति से निर्गत किया जा रहा है। आंतरिक वित्तीय सलाहकार की सहमति संचिका संख्या-BRRDA(HQ)-MMGSY-608/2017 पृष्ट संख्या-..../टि० पर दिनांक/-2-15 को प्राप्त है।

विश्वासभाजने | १३

सरकार के अपर सचिव

ज्ञापांकः BRRDA(HQ)-MMGSY-608/2017 - / 5 3

/पटना, दिनांक- ६.२.। ह

प्रतिलिपि:— माननीय मंत्री, ग्रामीण कार्य विभाग के आप्त सचिव, प्रधान सचिव, योजना एवं विकास विभाग/वित्त विभाग (आय—व्यय शाखा)/आंतरिक वित्तीय सलाहकार, ग्रामीण कार्य विभाग/प्रमण्डलीय आयुक्त, पटना/जिला पदाधिकारी, नालंदा/उप विकास आयुक्त, नालंदा /अभियंता प्रमुख, ग्रामीण कार्य विभाग, पटना/अवर सचिव, बजट शाखा, ग्रामीण कार्य विभाग/मुख्य अभियंता—1, ग्रामीण कार्य विभाग, पटना/मुख्य अभियंता—4/अधीक्षण अभियंता, ग्रामीण कार्य विभाग, कार्य अंचल, नालंदा/कार्यपालक अभियंता, ग्रामीण कार्य विभाग, कार्य प्रमण्डल, बिहारशरीफ को सूचनार्थ एवं आवश्यक कार्रवाई हेतु प्रेषित तथा IT Manager, ग्रामीण कार्य विभाग को विभाग के वेबसाईट पर अपलोड करने हेतु प्रेषित।

RLO

सरकार के अपर सचिव

Executive Engineer

R WD (W)

Distance Plants shand (Malanda)